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12.3. Problems :

1. find 
0

cos
t

tL e t tdt 
 
 


Solution :

0 0 1

1

1

cos cos

1 ( cos )

1 ( (cos ))

t t
t

s s

s s

s s

L e t tdt L t tdt

L t t
s

d L t
s ds



 

 

 

    
     
     

   
 

      
  

 
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2 2
1

2

2 2
1

2

2 2

1
1

1 ( 1) (2 )
( 1)

1 1
( 1)

1
( 1)

( 1) 1
( 1)(( 1) 1)

2
( 1)( 2 2)

s s

s s

s s

s s

s s

d s
s ds s

s s s
s s

s
s s

s
s s

s
s s

s s
s s s

 

 

 

 

 

           

    
     

   
     

 
   

  
     




  

2. Find 
0

sint
t tL e dt

t
 

 
 


Solution :

0 0 1

1

0

sin sin

1 sin

sin

1 (sin )

t t
t

s s

s s

t

s

t tL e dt L dt
t t

tL
s t

t
t

L t ds
s



 

 





    
     
     

       

 
  
 

 



                          

Since Lim   exist                          

                          

 

1

2
1

1

1

1 1
1

1 tan

s s

s s s

s
s s

ds
s s

s
s

 



 



 

 
   

    

                          
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1 1

1

1

1
1

1

1

1 (tan tan ( )

1 tan ( )
2

1 cot ( 1)cot
1

s s

s s

s s

s
s

s
s

ss
s s



 

 



 




 

     

       
     

                          

                          

                               

3. Find the Laplace Transform of 
0

sin
t

tte tdt
Solution :

1

1

2
1

2

2 2
1

( sin ) ( ( sin ))

(sin )

1
1

( 1)0 2
( 1)

t
s s

s s

s s

s s

L te tdt L t t
d L t

ds
d

ds s

s s
s


 

 

 

 



   
 

        

  
   

                     

                     

                     

2 2
1
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2

2
( 1)

2( 1)
(( 1) 1)

2( 1)
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S S

S
S

S
S

S
S S

 

 
   




 



 

                     

                     

                     

4. Find 
0

sint te tL dt
t

 
 
 


Solution :

0

0

1

2

sin 1 sin

sin

1 ( sin )

1 (sin )

1 1
1

t t t

t

t

t

s

s s s

e t e tL dt L
t s t

e t
t

L e t ds
s

L t ds
s

s s

 










 

   
   

  

 
  

 
 

  
 










Since Lim   exist.
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1 1
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s s s

s

ds

ds
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

 



 
  
  

  
      


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 

2

1

1

1
( 1) 1

1 tan ( 1)

cot ( 1)

s

s

ds
s s

s
s

s
s







  
      

 






Problems :

1. Find 2

0

t
tL e dt

 
 
 


Solution :

2 2

0

1 ( )

1 1
2

1
( 2)

t
t tL e dt L e

s

s s

s s

 
 

 

 







                 

                 

2. Find 
0

sin 3
t

L tdt
 
 
 


Solution :

0

2

2

1sin 3 (sin 3 )

1 3
9

3
( 9)

t

L tdt L t
s

s s

s s

 
 

 

 







                    

                    

3. Find 2

0

cos3
t

tL e tdt 
 
 


Solution :

2 2

0

1cos3 ( cos3 )
t

t tL e tdt L e t
s

  
 

 


2
1 (cos 3 ) s sL t
s   (Using first shifting theorem)

2
2

2

1
9

1 2
( 2 ) 9

s s

s
s s

s
s s

 

    

 
    
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4. Find 
0

sin 2
t

tL e h tdt 
 
 


Solution :

0

1

2
1

2

1sin 2 ( sin 2 )

1 (sin 2 )

1 2
4

1 2
( 1) 4

t
t t

s s

s s

L e h tdt L e h t
s

L h t
s

s s

s s

 

 

 

 
 

 



    

 
    



                           

                           

                           

5. Find 
0

sin 3 cos 2
t

L t tdt
 
 
 


Solution :

0

2 2

1sin 3 cos 2 (sin 3 cos 2 )

1 (2sin 3 cos 2 )
2
1 (sin 5 sin )
2
1 5 1
2 25 1

t

L t tdt L t t
s

L t t
s

L t t
s

s s s

 
 

 



 

     



                              

                              

                              

6. Find 3 2

0

sin
t

tL e t t dt 
 
 


Solution :

3 2 2

0 0 3

2

3

2

3

sin sin

1 ( sin )

1 (sin )

t t
t

s s

s s

s s

L e t t L t tdt

L t t
s

d L t
s ds



 

 

 

   
   

   

    
    

 

                         

                         

3

3

2
3

1 1 cos 2
2

1 (1 cos 2 )
2

1 1
2 4

1
2

s s

s s

s s

d tL
s ds

d L t
s ds

d s
s ds s s

s

 

 

 

        
    

       




                         

                         

                         

                         
2

2 2 2
3

1 ( 4) 1 (2 )
( 4)

s s

s s s
s s

 

     
    
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2

2 2 2
3

2

2 2 2

2

3 2 2

1 1 4
2 ( 4)

1 1 4 ( 3)
2( 3) ( 3) (( 3) 4)

1 4 ( 3)
2( 3) 2( 3)( 6 13)

s s

s
s s s

s
s s s

s
s s s s

 

    
     

   
      

  
      

                         

                         

                         

7. Find 4

0

sin 3 cos 2t
t t tL e dt

t
  
     


Solution :

4

0

0 4

4

sin 3 cos 2

sin 3 cos 2

1 sin 3 cos 2

1 (sin 3 cos 2 )

t
t

t

s s

s s

s s s

t tL e dt
t

t tL dt
t

t tL
s t

L t t dt
s

 

 





  
     

 
  

 

       

 
  
 







                         

                         

                         
4

4

4

2 2
4

1 1

4

1 1

4

1 1

1 (2sin 3 cos 2 )
2

1 (sin 5 sin )
2

1 5 1
2 25 1

1 15 tan tan
2 5 5

1 tan tan
2 5

1 (tan tan
2

s s s

s s s

s s s

s s

s s s

L t t ds
s

L t t ds
s

ds
s s s

s s
s

s s
s

s



 



 



 

 

 


 

 

 

 
  
 

 
  
 

        

        

     
   

  







1 1

4

1 1

4

1 1

4

1 1

) tan tan
5

1 tan tan
2 2 2 5

1 tan tan
2 5

1 4tan tan ( 4)
2( 4) 5

s s

s s

s s

s s

s s
s

s s
s

s s
s

 





 

 

 

 

 

 

 

           

         

        
       


